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LRR

1.2

T T T T T T T T
0 20 40 60 80 100 120 140

position (Mb)
horizontal line = mean LRR

green=AA, orange=AB, purple=BB, black=missing

0.8

BAF
0.4

0.0

position (Mb)
horizontal line = 0.5000 0.3333 0.6667

N OTHO N o0 N HA AMMOCEAIM — M (N O) N
I 0 OO TN Cfad-lrh—H\—k—NN\NNH\—lHNmm S
QNN VPN NN whhe o o <oy OONIADRRNN. ) 000 09 ) 0 C00TIN
000 00O 00000000 T O GO 0000W000 O 000 O O O amoo

ININIINENED




LRR

BAF

0.8

0.4

0.0

Scan 280 - Chromosome 10 — EIF2B5_R195H_B01

T T T T T T T T
0 20 40 60 80 100 120 140

position (Mb)
horizontal line = mean LRR

green=AA, orange=AB, purple=BB, black=missing

o_
N _l
o
&~ |
o
o _|
(@]
@ _|
o
=
o_
o
=
o 4
o
=
N
o

position (Mb)
horizontal line = 0.5000 0.3333 0.6667

MOTTINRT L0 LOLO GO O O

23




LRR

BAF

1.2

0.8

0.4

0.0

Scan 280 - Chromosome 11 — EIF2B5_R195H_B01

T T T T T T
20 40 60 80 100 120

position (Mb)
horizontal line = mean LRR

green=AA, orange=AB, purple=BB, black=missing

140

position (Mb)
horizontal line = 0.5000 0.3333 0.6667

140



LRR

BAF

0.8

0.4

0.0

Scan 280 - Chromosome 12 — EIF2B5_R195H_B01

0 20 40 60 80 100 120

position (Mb)
horizontal line = mean LRR

green=AA, orange=AB, purple=BB, black=missing

position (Mb)
horizontal line = 0.5000 0.3333 0.6667

0200 ) ANH MY N AN THHOOAN AN MMM AN AN ) OO
N ) O NN N —HH N MO0t I o o AN 0o S/ < Y
e o A e o e e e e L A AN A A AN A AN
000000000000y O COOUOO00 O O O 000 OO0 0 OO O OO




LRR

BAF

0.0 0.2 04 06 08 1.0

Scan 280 - Chromosome 13 — EIF2B5_R195H_B01

20

T T T
40 60 80

position (Mb)
horizontal line = mean LRR

green=AA, orange=AB, purple=BB, black=missing

100

position (Mb)
horizontal line = 0.5000 0.3333 0.6667




LRR

BAF

Scan 280 - Chromosome 14 — EIF2B5_R195H_B01

4
— —
o —
— _|
|
o~ | . .
|

I I I I I

20 40 60 80 100

position (Mb)
horizontal line = mean LRR
green=AA, orange=AB, purple=BB, black=missing

[ee)
@
<
3
o |
o

20 40 60 80 100

position (Mb)
horizontal line = 0.5000 0.3333 0.6667

g21.1
g21.2
g21.3

22.1

22.2

22.3
g23.1
g23.2
g23.3
g24.1
q24.2
g24.3
g3l.1
g31.2
g31.3

32.1

32.1
g32.1
g32.2
32.3

% qll.1

qll.2
gl2

q
q
q
q
q




LRR

BAF

1.2

0.8

0.4

0.0

Scan 280 - Chromosome 15 — EIF2B5_R195H_B01

20

T T T
40 60 80

position (Mb)
horizontal line = mean LRR

green=AA, orange=AB, purple=BB, black=missing

100

ql1.1

ql1.2

gql4

position (Mb)
horizontal line = 0.5000 0.3333 0.6667

) — N M —N O

LD «— — AN AN ™M
—H N N AN NN NN N
oo O T T TUT TO T




LRR

BAF

0.8

0.4

0.0

Scan 280 - Chromosome 16 — EIF2B5_R195H_B01

20 40 60 80

position (Mb)
horizontal line = mean LRR

green=AA, orange=AB, purple=BB, black=missing

position (Mb)
horizontal line = 0.5000 0.3333 0.6667

N s R A N = N o O o
NN N — — A [qV} N N NN O OO <TIY
A - — — 1 — I N Al AN AN AN AN AN
OO0 O o O T T O T T O OUOTUT T TTTUTOTO

E




LRR

BAF

0.8

0.4

0.0

Scan 280 - Chromosome 17 — EIF2B5_R195H_B01

20 40 60 80

position (Mb)
horizontal line = mean LRR

green=AA, orange=AB, purple=BB, black=missing

position (Mb)
horizontal line = 0.5000 0.3333 0.6667

N o« N N M MM N OdN M AN ™
A Hd N o A N M oYY S 00 W0
oo d oo N NN A AN N AN
O oo OO0 O OO OO0 O TOO O OO O




LRR

BAF

0.8

0.4

0.0

Scan 280 - Chromosome 18 — EIF2B5_R195H_B01

T T T T
20 40 60 80

position (Mb)
horizontal line = mean LRR

green=AA, orange=AB, purple=BB, black=missing

position (Mb)
horizontal line = 0.5000 0.3333 0.6667




LRR

BAF

0.8

0.4

0.0

Scan 280 - Chromosome 19 - EIF2B5 _R195H_B01

10 20 30 40 50

position (Mb)
horizontal line = mean LRR

green=AA, orange=AB, purple=BB, black=missing

60

position (Mb)
horizontal line = 0.5000 0.3333 0.6667

™ N A N MM
™ M MM o™ N " N M MM M M M
o a4 dd9 o — A d a4 d9 94 d o
a Q oo o o oaooT ©OT o oo o T O

ql3.3
gl3.4
ql3.4




LRR

BAF

1.2

0.8

0.4

0.0

Scan 280 - Chromosome 20 — EIF2B5_R195H_B01

T T T T T
10 20 30 40 50

position (Mb)
horizontal line = mean LRR

green=AA, orange=AB, purple=BB, black=missing

60

pl3

position (Mb)
horizontal line = 0.5000 0.3333 0.6667




LRR

BAF

0.8

0.4

0.0

Scan 280 - Chromosome 21 — EIF2B5_R195H_B01

10 20 30 40
position (Mb)
horizontal line = mean LRR
green=AA, orange=AB, purple=BB, black=missing
g |
%7, gv - Bo, © BY o 9 o:° ':;; g t; P o .
. m 24
o WW wswwmvmwm L ]
o
I I I I
10 20 30 40
position (Mb)
horizontal line = 0.5000 0.3333 0.6667
N AN ! o ™ " — o ™
— — - — — — N N N 3\
— == o\ (N (N o\ N o
o o T T oy oy o o o O op




LRR

BAF

0.8

0.4

0.0

Scan 280 - Chromosome 22 — EIF2B5_R195H_B01

20

T T T T
25 30 35 40

position (Mb)
horizontal line = mean LRR

green=AA, orange=AB, purple=BB, black=missing

45

50

gl1.2

qll.2

position (Mb)
horizontal line = 0.5000 0.3333 0.6667

N ™
[qV} (qV}
— —
O O

ql2.1
gl3.1
ql3.2

g13.3
ql3.3




LRR

BAF

0.8

0.4

0.0

Scan 280 - Chromosome X — EIF2B5_R195H_B01

50 100

position (Mb)
horizontal line = mean LRR

green=AA, orange=AB, purple=BB, black=missing

150

50 100

position (Mb)
horizontal line = 0.5000 0.3333 0.6667




LRR

BAF

00 02 04 06 08 1.0

Scan 280 - Chromosome Y - EIF2B5_R195H_B01

0 50 100 150
position (Mb)
horizontal line = mean LRR
green=AA, orange=AB, purple=BB, black=missing

T T
50 100

position (Mb)
horizontal line = 0.5000 0.3333 0.6667

150




